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QUESTION 1

Consider the following diagram: Which of the following best describes what this diagram represents?

A. A device with two system software environments. Two artifacts are deployed in one system software environment,
and one artifact is deployed in the other environment

B. A node with two devices. Two artifacts are deployed in one device, and one artifact is deployed in the other device

C. A node with two system software environments. Two artifacts are deployed in one system software environment, and
one artifact is deployed in the other environment

D. A node with two application components. Two artifacts are deployed in one application component, and one artifact is
deployed in the other components

Correct Answer: C

QUESTION 2

According to the ISO/IEC 40210 standard, which of the following statements is NOT correct?
A. A view conforms to a viewpoint

B. A viewpoint always addresses one or more stakeholders

C. A concern is always important to one or more stakeholders

D. A viewpoint always covers exactly one concern

Correct Answer: D

QUESTION 3
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Consider the following diagram, which represents a migration from a Baseline to a Target Architecture:

= &S =
Baseline SR ¥y

Which of the following answers best interprets the unlabeled symbol in the middle of the diagram?

A. It represents a relatively stable intermediate state during the migration from the Baseline to the Target Architectures
B. It represents a project that progresses the architecture from Baseline to Target

C. It represents the deliverables necessary to transform the architecture from Baseline to Target

D. It represents a conceptual point of transition between the two architectures, but one that is unlikely to exist in reality
for more than an instant

Correct Answer: A

QUESTION 4

Which concept is typically used to model hardware systems such as mainframes, PCs, or routers?
A. System software

B. Network

C. Artifact

D. Device

Correct Answer: D

QUESTION 5

At ArchiSurance, the Recruit Employee process passes information to the Select Employee process, which in turn
passes information to the Make Offer to Employee process:
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Which ArchiMate relationship should be used to express the passage of information between processes?
A. Triggering

B. Access
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C. Flow

D. Assignment

Correct Answer: C
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